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2022

ECONOMICS

( Honours )

Paper : ECO-HC-5016
( Indian Economy—TI )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following : 1x10=10
v TR R I W T far

Mlat is the density of population in
A

India according to 2011 Census?
2055 TF CIFPEE SPI SO TWPRIA
g 13 7

yﬁe sex ratio.
fergsl Sepereq ke gl |
(c) ich age structure is important for
demographic dividend?

GIOIGE FTSNXE FACE (@] TS AT
AT 2 2
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(2)

Which neighbouring country of India
has the lowest unemployment rate?

e} What is human capital?
. T=T T B0

i,
S

(f/  Write one limitation of new industrial
policy.
TR STAHE AR ¥ Sywwe =y

(g} Mention one factor responsible to
increase savings and investment In

India.
TREE ¥ T RAEe 3" @R G5 IR
TEYF

(h} Give one characteristic of India’s age
composition.

ST SRR 9 TR &5 ZRY =
(i What is the MRTP Act?

one health care scheme

inroduced in India.

=il

(k) Write one important structural change
arising out of economic development in

India.
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(3)

(-~ Mention one factor responsible for
' regional disparity in India.
CIHES HEAd e qefde ¥4 @5 ar4s
T(EY 41 |

(m)/Wﬁich sector contributes maximum to
“—"  the GDP of India?

SR Yo T TeAwA @R 492

i oM 2
Wne factor responsible for the
L environmental degradation in India.
TGS AIITE TSR 2SS F41 O] TR
ferat |
(o) hat is relative poverty?
weifies wwel &2

(p) Write one important measure to stop
natural growth rate of population.

TR APReF Jfad 24 T FRAA 961 T
o= |

(g9 Give one demographic feature of
Vietnam.
fecabr «b1 Gerelfas (afiEy fordt |

() Mention one criticism of economic
reforms.

GATOF FLZIRE Gb1 FAHCEAD SCEY 341 |
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(4)

2. Answer any five from the following : 2x5=10

oS RIS R @i “livhR Ter B

(a) at is NITI Aayog?
NITI Aayog &7

(b) Define sustainable development.

IV TR R i |
M What is poverty line?
- wf_w SR F 9

(i Write the components of human
- development index.

3 THA ORI TOAMICR o4 |

Mention two reasons of educated
unemployment in India.

Sl AR 51 PR B w4 |

) mt out two important causes
responsible for increasing inequality in
India.

Seq IS WO el T W sFed
TR e 0

(g0 What is meant about the rural-urban
population composition in India?
SROY AN SERYR oW o [
& ?

(h) Mention two schemes for elementary
education in India.

SO AT B w3 S5 Soae 91 |
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(5)

() What are the initiatives recently taken
by government to enhance skill among
workers?

AN Were wwel 3fn IRIT A TGS
TS I (@RI SorerR 6 6 2

() Why were economic reforms introduced
in India?

TRoS SRS HFE 57 A0 F91 (2f>ed 2

3. Answer any four from the following : 5x4=20

were AR R @ wfeR Tee fr

(aq) What are the major demographic issues
in India?

SRS o weIfge TP 6 2
(b rite a note on malnutrition in rural

areas of India.
©ReS AT S S4BT 8owe @ (B fordl |

(of Explain the nature of unemployment
" problem in India.

Slaed el I Agied ey 3961 41 |

(dy* Explain the relationship between
population growth and economic
development in the context of Indian

economy.
Ol HHAlfed TUEE  TPRAT Ja AE
T fed ST e FEALCH! I 47 |
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(6)

he poverty alle "

(e) Discuss briefly t
' uced in India during

programme introd
the planning period.

Mahatma  Gandhi National  Rural
Employment Guarantee Act (MGNREGA)?

S R we A FREE SIS R
(MGNREGA)awhﬁW%ﬁS?

(g) Explain the role of institution towards
attaining economic development of a

country like India.
St Rt (e T ANST T S[Sie FIIACA

SRR ! e
(h) Briefly discuss the new education policy
introduced in India.
TS AqET T oA Prweies BRI v
A 41|
4. Answer any four questions from the
following : 10x4=40
weTe RACARS [ @ wiRbR Tes fra
(¢f What is demographic dividend? Discuss

the problems faced by India to realize
the demographic dividend.

W}[ﬁ\g AR 57 TOIF FTen qreme
TS FI SR TR (2 “
SICEE] 4 | S e
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(7))

-

h)- Discuss the main features of Indian _
economy at the time of Independence

FENCA FITE SHIE TER R TF T =57LT
HIEDS &9

(c) Explain the current state of primary
health facilities in India.
TSR AIRNE FE FI4R ITTw WE Ly I
1

(d) Describe the trend of poverty in India In
the Post-Reform Period.
TRT IR FiIgE o TR TRm =1
RE 3971 397

fe) Give an assessment of Indian
population in terms of quality.
SREY WERYN IWRY T &F =S
9|

va}’ Explain the causes and consequences of
unemployment problem in India.

391 39 |

(g) Discuss the growth of Indian economy
during the Reform Perod.
I LRI FRACORTS SO VYR [Fapeg

R wama 39 |
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(8)

_{]1) What was the Great Leap Forward

- programme? Explain the impact of
Great Leap Forward programme on
Chinese economy.

TN SR ememee sl & wfeE o B
HfAT® T QAN 7B B Ak
T/ 3+ T4

(i What were the major structural changes
that were brought about by the
liberalization of the Indian economy in
the 1990s?

y550 THEY TReE WAfed THIAFATR TAC
51 A4 FRCNS “AEadrz & 2

V(j/ Give a comparative study of India,
China and Pakistan with respect to
sectorwise contribution to GDP and
human development index value.

gtaw%aﬁwtﬁim%ﬁ@vﬁwwm
wmmaﬁmw,ﬁwww

TrEe B TEIE S TS &l |
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